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CIRCLES

Multiple Choice Question

1. If the area of a circle is 64w, which is the

circumference of the circle?
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A. 8T

B. 167

C. 327

D. 647

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_vqZbifG95U0H

In the figure above, the ratio of the
circumference of circle B to the length of

minor are AC is 8:1. What is the value of x?

° Watch Video Solution
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Points A and B lies on circle as shown. The
measure of angle ACB is 120°. If the area of
circle is 817 square units, what is the length of

minor are AB?


https://dl.doubtnut.com/l/_3KO9ZcZqEAQd

A. 67

B. 97

C. 18«

D. 27w

Answer: A

o Watch Video Solution

4. Circle C (not shown) is drawn on a
coordinate plane, centered at the origins. If

the point (a, b) lies on the circumference of
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the circle, what is the radius of the cirle in

terms of a and b?

Aa—0>b

B.a +b

C. \/a2 + b

D.a? + b2

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_yufYVqk2Uyy2

In the figure above, O is the center of the
circle. If the area of A XQOY is 25, what is the

area of circle?

A. 25T


https://dl.doubtnut.com/l/_grdwCdQ3PuuE

B. 25+/2m
C. 507

D. 6257

Answer: C

o Watch Video Solution
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Each of the three shaded regions above is a
semicircle. If
Ab =4, BC = 2AB, and CD = 2BC, what
is the area of the entire shaded region?

A. 28T

B. 427

C. &4


https://dl.doubtnut.com/l/_fvT6Bx4mgy3e

D. 967

Answer: B

o Watch Video Solution

7.
The semicircle shown has its center at point Q.

If the measure of the central angle of the
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shaded sector is 160 degree, what is the value

of x in radius?
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Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_sXyyEzKYNsZW

8.
The area of the shaded sector in circle P above
is 187 square units. If the measure of angle

POR is 452, what is the length of chord QR?

A.6


https://dl.doubtnut.com/l/_GRVklwqkR9ZZ

B.9

C.9/2

D. 12

Answer: D

o Watch Video Solution

9. The center of circle O (not shown) falls on
4
the point where the line y= 37 +4

intersects the x-axis on the coordinate plane.

The point (3, 8) lies on the circumference of
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the circle. Which of the following could be the
equation for circle O?
Az’ 4y =25
B.(x +3)*+¢°> =25
C.(z+3)° +y? =100

D. (z +3)° + (y — 8)° = 100

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_x9pwyy51QfwW

. 12 inches — 4
20°

10.

The figure above shows the path traced by the
hand of a scale as it moves form A to B. What
is the area, in square inches, of the region

passed over by the scale's hand?

A 2w

B. 87

C. 127


https://dl.doubtnut.com/l/_BOGp6iSnz3jD

D. 167

Answer: B

° Watch Video Solution

11. If are AB has a length of 127 and represents
three-fourths of the circumference of circle O
(not shown), what is the shorter distance

between the endpoints of the arc?

A4
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B. 4+/2

C.8

D. 84/2

Answer: D

o Watch Video Solution
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12.
In the figure above, circle O has a

circumference of 127. If AB=8, what is BC?

A.2¢/7
B.2(3 — /7)


https://dl.doubtnut.com/l/_WgEJTQPMkqWX

C.2(6 — /7)

D.4,/5

Answer: B

° Watch Video Solution
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